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1. �K15@8B5 >?B8<0;L=>5 ?5@52>4G5A:>5 @5H5=85 ?@8 ?5@52>45 
D@075>;>387<>2 

 0) :0;L:8@>20=85 
 1) ?5@52>4->1JOA=5=85 ?5@5=>A=>3> 7=0G5=8O D@075>;>387<0 
 2) ?>8A: 0=0;>38G=>9 D@075>;>38G5A:>9 548=8FK  
2. !07>28B5 ?@8P<, 8A?>;L7>20==K9 ?@8 ?5@52>45 A;54CNI53> ?@54;>65=8O 

(2>7<>65= 2K1>@ 1>;55 G5< >4=>3> 20@80=B0): Bake the buns till light golden 
�C;>G:8 2K?5:0NBAO 4> ?>O2;5=8O 7>;>B8AB>9 :>@>G:8.  

0) 0=B>=8<8G5A:89 ?5@52>4  
1) 3@0<<0B8G5A:0O 70<5=0  
2) @0A?@>AB@0=5=85  
3) 70<5=0 >1@070  
3. #5@52548B5 A;54CNI85 ?0@0D@07K 8 >?@545;8B5 8AE>4=K5 =0720=8O:  
the Garden State 

 the Rose against the Lily  

the Lake State  

the City of Seven Hills 

 the Wise Men of the East 

 the Union Jack  

�>;K15;L B@PE @52>;NF89  

&@5B89 $8<  

the Eternal City  

the Emerald Isle  

%B@0=0 DL>@4>2  
John Doe and Richard Roe  

�>@>4 �P;B>3> �LO2>;0  
One-armed bandit 

 

�BAFDB?PA4S D45BF4 № 2 
#A524>8=B5@=0F8>=0;L=0O ;5:A8:0  
1) �7CG8B5 ?@54AB02;5==K5 20@80=BK ?5@52>40 ?A524>8=B5@=0F8>=0;L=>9 

;5:A8:8 8 >F5=8B5 8E 045:20B=>ABL. #@54;>68B5 A>1AB25==K5 20@80=BK ?5@52>40.  
1. actual // 0:BC0;L=K9;  
2. appellation // 0?5;;OF8O;  
3. aspirant // 0A?8@0=B;  
4. balloon // 10;;>=;  
5. baton // 10B>=;  



6. billet //18;5B;  
7. compositor // :><?>78B>@;  
8. concern // :>=F5@=;  

9. depot // 45?>;  
10. direction // 48@5:F8O;  
11. fabric // D01@8:0;  
12. genial // 35=80;L=K9;  

13. intelligence // 8=B5;;835=F8O;  
14. motion // <>F8>=;  
15. motorist // <>B>@8AB;  
16. obligation // >1;830F8O;  
17. physique // D878:;  
18. probe // ?@>10;  
19. protection // ?@>B5:F8O;  
20. pathos // ?0D>A  
2) #5@52548B5 ?@54;>65=8O, >1@0I0O 2=8<0=85 =0 C?>B@51;5=85 

?A524>8=B5@=0F8>=0;L=>9 ;5:A8:8.  
1. When he was fifteen Chopin entered his father's school for academic studies.  

2. It was largely due to Eisner's sympathy and understanding that Chopin was 

able to evolve a personal style of writing almost from the very beginning of his creative 

career.  

3. His desire to leave Warsaw was intensified by a schoolboy love for Constantia 

Gladkowska, a singing student. A change of scene seemed the logical prescription.  

4. He was bored with the city and agonized by his unrequited love.  

5. His father provided him with funds and in the summer of 1829 he came to 

Vienna.  

6. World War I was a dramatic demonstration of the fact that capitalism had 

plunged into an incurable general crisis.  

7. The President's tour of the flood-stricken areas dramatized the fact that the 

terrible tragedy presented, in the first place, a federal problem.  

8. Reason told him he was in the presence of an archenemy, and yet he had no 

appetite whatever for vengeance.  

9. More than 500 senior British scientists from 20 universities signed a pledge 

boycotting research for the American Strategic Defence Initiative, popularly known as 

Star Wars. 
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�><5@ 
7040=8O 

С>45@60=85 2>?@>A0 

1 Translators in the old days were called... 

a) by linguists; 

b) bilinguals; 

c) by translators; 

d) tolmachi 



2 3 The first theorists of translation were...? 

a) merchants; 

b) the people; 

c) the translators themselves; 

d) linguists 

3  … the translation is called the translation of works of fiction 

a) Business; 

b) Information; 

c) Technical; 

d) Art 

4 Which of the following translation methods provides a more complete transmission 

of the contextual value: 

a) literal 

b) semantic 

c) communicative 

d) selective 

5 Political, commercial, legal documents refer to... to texts 

a) scientific 

b) conversational 

c) official business 

d) journalistic 

6 The translation performed by the computer is called... 

a) manual translation; 

b) mixed translation; 

c) proven translation; 

d) machine translation. 

7 Incomplete translation is... 

a) a translation conveying the semantic content of the original with omissions and 

abbreviations; 

b) translation of artistic texts; 

c) translation that conveys the meaning of the text; 

d) translation of only part of the text 

8 .… translation is carried out with the simultaneous processes of perception of is- 

of the moving message and generation of the translation text. 

a) technical; 

b) legal; 

c) author's; 

d) synchronous. 

9 A section of linguistic theory of translation, studying the features of the process of 

translation of texts of different types and the influence of speech forms on this 

process and 

conditions for its implementation are called: 

a) private theory of translation; 

b) special theory of translation; 

c) general theory of translation; 

d) aspect theory of translation 

10 Who was an outspoken opponent of translation? 

a) Maxim Greek 

b) Martin Luther 

c) Maxim Gorky 

11 What century is considered the "Golden" century of the Russian translation? 

a) XX 

b) XIX 



c) XVIII 

12 The foundations of the scientific theory of translation began to be developed 

a) in the mid-20th century 

b) in the late 90s of the 20th century 

c) in the Renaissance 

d) in the early 19th century 

13 In translation theory, they distinguish: 

a)general and private theory 

b)private and special theory 

c)general and special theories 

d)general, private and special theories 

14 The problems of translation theory do not include: 

a)training of translators 

b)disclosure of the essence of translation equivalence definition of translation as an 

object of linguistic study 

c)description of the general linguistic basis of translation 

15 "Translate" is 

a)translation process 

b)voice message 

c)translation language text 

d)artwork 

16 Equivalence of translation is 

a)commonality of the content of the original texts and the translation 

b)the relationship between the source and the translation receptor 

c)communicative task 

d)the relationship between the translator and the original 

17 Methods of translation of equivalent-free vocabulary do not include: 

a)zero translation 

b)transliteration 

c)tracing 

d)descriptive translation 

18 #5@52>4G5A:85 B@0=AD>@<0F88 3 MB>... 
@53C;O@=K5 A>>B25BAB28O 548=8FK #/ 4;O 548=8FK �/ 

?@5>1@07>20=85 548=8F �/ 2 548=8FK #/  
<=>65AB25==K5 A>>B25BAB28O 548=8F #/ 548=8F0< �/ 

2@5<5==K5 A>>B25BAB28O 548=8F #/ 548=8F0< �/ 

19 Translation transformations are divided into: 

a)lexical and grammatical 

b)lexical-grammatical and grammatical 

c)lexical, grammatical and lexical-grammatical 

d)phraseological and grammatical 

20 Lexico-grammatical transformations include: 

a)compensation and explication, antonymic translation 

b)modulation 

c)transcription 

d)tracing 

21 What is the essence of antonymic translation: 

a)in the use of the opposite concept 

b)in the transmission of stylistic coloring 

c)in the explanation of the concept through a synonym 

d)in explaining the meaning 

22 The transmission of letters of one written system by letters of another system is 



called: 

a)transcription 

b)movement 

c)transliteration 

d)broadcast 

23 The transmission of the sound form of the word  is called: 

a)transcription 

b)broadcast 

c)transliteration 

d)coding 

24 The text that is translated is called: 

a)broadcast 

b)translated text 

c)secondary text 

d)original 

25 Choose the right option! In this method of translation, one phrase is replaced by 

another, equivalent to the first in functional and stylistic terms 

a)adequate replacement 

b)compensation 

c)logical development of the concept 

d)omitting words 

26 In which texts can we achieve the highest degree of equivalence in translation? 

a)in spoken language 

b)to journalism 

c)in scientific and technical texts 

d)fiction 

27 What type of translation is called "leaf translation"? 

a)written and oral 

b)written and written 

c)oral and written 

d)oral and oral 

28 Replacing a lost stylistic medium in one part of the text with another equivalent in 

another part of the text is called: 

a)specification 

b)adequate replacement 

c)compensation 

d)transformation 

29 What plays a big role in translating phraseologisms? 

a)text 

b)context 

c)style 

d)compatibility of words 

30 A translation method in which a word of a broader meaning is replaced by a word of 

a narrower meaning is called: 

a)specification 

b)transcription 

c)description 

d)transliteration 

31 The translation of a lexical unit by replacing its constituent parts with their lexical 

correspondences  is called: 

a)transcription 

b)description 



c)specification 

d)tracing 

32 The replacement of an unit having a narrower value with a broader value unit is: 

a)generalization 

b)description 

c)specification 

d)transliteration 

33 The theory of interlanguage translation lexical correspondences arose: 

a)in Germany 

b)in Russia 

c)in Canada 

d)in Switzerland 

34 The translation process (or translation process) in modern translation science is 

called: 

a) translator's actions to understand the text of the original 

b) transition from one language to another 

c) a set of translator actions to create a translation text 

d) translator’s actions to edit the translation text 

35 False equivalents (or "false friends of an interpreter") are called: 

words completely or partially coinciding with the word of the original language, 

semantically and etymologically close to it, but having a different meaning in the 

translation language: 

a)words that do not match a foreign language word, but are semantically and 

etymologically close to it 

b)words that fully or partially coincide with a foreign language word, semantically 

and etymologically close to it 

c)words that do not match a foreign language word but have a close meaning 

36 The receptor in translation science is called: 

recipient of the message - listening or reading communication participant 

a sensory organ that converts external energy into nerve signals: 

 

a)original subject to translation 

b)text as a result of the translation process 

37 Non-equivalent vocabulary in translation science is called: 

lexical units of the original language that do not have regular dictionary matches in 

the translation language: 

 

lexical units of the translation language that do not have synonyms 

lexical units of the original language that do not have homonyms 

lexical units of the translation language that do not have antonyms 

38 What kind of transformation took place in the following translation? 

I packed my two Gladstones4/ C?0:>20; A2>8 420 G5<>40=0 
concretization 

generalization 

transcription 

omission 

39  Define the type of translation technique used in the English-Russian translation:  

He told me to come at once - "= ?>A>25B>20; <=5 ?@89B8 B>BG0A 
generalization 

transcription 

concretization  

omission 



40 Define the type of translation technique used in the Russian-English translation: 

'ABL-�>6A:89 ?>3>AB - Ust-Kozhsky pogost (old Russian word for a graveyard) 

transcription + descriptive translation  

generalization 

concretization 

zero translation 

41 Define the type of translation technique used in the translation of the following 

word- 

combinations: Cleveland4�;82;5=4 
generalization 

transcription 

loan translation 

concretization 

42 Define the type of translation technique used in the English-Russian translation: 

Embargo - M<10@3> 
generalization 

transliteration  

loan translation 

concretization 

43 Define the type of translation technique used: Subaru - %C10@C 
a) transliteration  

b) addition 

c) transcription 

d) omission 

44 Define the type of translation technique used: He ordered a drink - "= 70:070; 
28A:8. 
a) concretization  

b) generalization 

c) transcription 

d) omission 

45 Define the type of translation technique used: 

An attempted overthrow in Peru - #>?KB:0 A>25@H8BL ?5@52>@>B 2 #5@C 
a) Change of part of speech 

b) Differentiation 

c) Concretization 

d) Generalization 

46 What kind of transformation took place in the following translation? 

Her hands rested side by side on her lap - �5 @C:8 A?>:>9=> ;560;8 =0 :>;5=OE 
a) generalization 

b) omission 

c) concretization 

d) transcription 

47 Define the type of translation technique used in the English 3 Russian translation: 

Brain trust - <>73>2>9 B@5AB 
a) generalization 

b) concretization 

c) transcription 

d) loan translation 

48 Define the type of translation technique: shadow cabinet –B5=52>9 :018=5B 

a) loan translation 

b) transcription 

c) translation 



d) omission 

49 Define the type of translation technique: Warner Brothers – У>@=5@ �@075@A  

a) translation 

b) omission 

c) transcription 

d) addition 

50 Define the type of translation technique: She weighs 150 pounds - "=0 <=>3> 25A8B. 
a) concretization 

b) transcription 

c) generalization 

d) omission 

51 Define the type of translation technique used in the R-E translation: Г5=5@0;P=0O 
�AA0<1;5O �1N548=5==OE �0F89 - The General Assembly of United Nations 

a) transliteration 

b) differentiation 

c) generalization 

d) loan translation  

52 Define the type of translation technique: White Hall 3 '09B )>;;  
a) loan translation 

b) transliteration 

c) omission 

d) transcription  

53 Define the type of translation technique: Dorset 3 �>@A5B 
a) loan translation 

b) transcription 

c) omission 

d) transliteration  

54 Define the type of translation technique: �38B?C=:B 3 agitpunkt (voter education 

center) 

a) generalization 

b) concretization 

c) zero translation 

d) transcription + descriptive translation 

55 Define the type of translation technique used in the English 3 Russian translation: 

Kansas City – К0=70A С8B8 

a) transcription  

b) generalization 

c) concretization 

d) zero translation 

56 Define the type of translation technique used in the English 3 Russian translation: 

Associated Press 3 �AA>H8M9B54 #@5AA 
a) loan translation 

b) transcription  

c) transliteration 

d) omission 

57 Choose the correct Russian variant to the English sentence: The danger of flooding is 

believed to be over.   

a) �0: ?>;030NB, >?0A=>ABL =02>4=5=8O <8=>20;0.  
b) "?0A=>ABL =02>4=5=8O ?>;030NB, <8=>20;0. 
c) "?0A=>ABL =02>4=5=8O AG8B05BAO <8=C2H59. 
d) !02>4=5=85 AG8B05BAO C65 <8=C2H59. 

58 Choose the correct English variant for the Russian <:@0A=0 4528F0=  



a)  a red girl 

b)  a fair maiden 

c)  a red maiden 

d)  a fair woman 

59 Choose the correct English variant for the Russian 5?@5B5=78O6   
a) claim  

b) pretence  

c) pretension 

d) pretensia 

60 Define the type of translation technique used in the following E 3 R translation: I 

paid him 1500 dollars in cash. – / 70?;0B8; 5<C E>@>H5=P:CN AC<<C. 
a) transliteration  

b) loan translation 

c) generalization  

d) omission 

61 Define the type of translation technique used in the following E 3 R translation: His 

relatives treated me kindly. – Е3> B5BCH:8 1O;8 ;N157=O A> <=>9. 
a) concretization  

b) generalization 

c) loan translation 

d) transcription 

62 What kind of transformation can you observe in the following E-R translation: They 

went on strike over a bonus claim. – �=8 7010AB>20;8, B@51CO 2O?;0BO 
?@5<80;P=OE. 

a) lexical transformation 

b) stylistic transformation 

c) grammatical transformation 

d) semantic transformation 

63 What is the other way to call 5False friends of the translator6? 
a) International words 

b) Idioms 

c) Pseudointernational words 

d) Phraseologisms 

64 Choose the appropriate translation equivalent to the following phraseological unit: 

out of the blue 

a) ?@O<> A A8=53> =510 
b) ?@O<> A OA=>3> =510 
c)  :0: 3@>< A@548 OA=>3> =510 
d) >B 3>;C1>3> =510 

65 Choose the appropriate translation equivalent to the following phraseological unit: a 

fly in the ointment 

a) ;>6:0 453BO 2 1>G:5 <540 
b) <CE0 2 <0A;5 
c) <CE0 2 <078 

d) ;>6:0 <540 2 1>G:5 453BO 
66 Choose the most appropriate Russian equivalent to the English idiomatic expression:  

whip-and-carrot policy 

a) ?>;8B8:0 :=CB0 8 <>@:>28 

b) 83@0BL A >3=5<  
c) ?>;8F8O =0G5:C 
d) ?>;8B8:0 :=CB0 8 ?@O=8:0 

67 Choose the most appropriate Russian variant to translate the English article: 



A passenger was looking for a place to put his bag. 

a) &>B ?0AA068@ 8A:0; <5AB>, :C40 ?>AB028BL AC<:C. 
b) �>B ?0AA068@, :>B>@K9 8A:0; <5AB>, :C40 ?>;>68BL AC<:C. 
c) &0:>9 ?0AA068@ 8A:0; <5AB>, :C40 ?>AB028BL AC<:C. 
d) �0:>9-B> ?0AA068@ 8A:0; <5AB>, :C40 ?>AB028BL AC<:C. 

68 Define the type of translation technique used in the English-Russian translation: He 

leaned forward to take the paper. - "= =0:;>=8;AO, GB>1K 27OBL 4>:C<5=B. 
a) omission  

b) generalization 

c) concretization 

d) loan translation 

69 Define the type of translation technique used in the English-Russian translation: He 

took his bag in his right hand. 3 "= 27O; AC<:C 2 ?@02CN @C:C. 
a) omission  

b) generalization 

c) loan translation 

d) concretization 

70 Define the type of translation technique used in the English - Russian translation: 

Impeachment – 8<?8G<5=B 

a) transcription  

b) omission 

c) addition 

d) concretization 

 

 

 


